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1. Whatis the most appropriate synonym of word “Sociable” ? Inhospitable *
(A) Snob @)  Friendly O ©, , Innosp
(D) Bankrupt (F)  Questionnotattem pted

2. The Darrah Game Sanctuary was converted as b
(A) Desert National Park (B) Sariska National Park

(© Mukundra National Park (D) Keoladeo ‘:’Gﬁana" National Park

(E)  Questionnotattempted
e T AR ¥ v o uftafda faan T
(A) T IEA TH @ e e o ©  HEE AT T

D) Faara‘um A T 4 () STIRRa W

ter Ritu is Kavita, the mother of Kavita’s sister Neha is Maya. How is Neha related to

3. The mother of Shivani’s sis
Ritu ?
(A) Maternal Aunt (B) Cousin (©  Mother
(D) Paternal Aunt ()  Question notattempted
figaTt %1 5 O F W Bl , S e Yo F A A E, a1 e fig W PN AN ¥ 2
(A) e @) i w © =
® T B ST W
4 Which of the following banks is known as Bankers Bank in India ?
(A) State Bank of India (B)  ReserveBankof India (© Indian Overseas Bank
(D) Punjab National Bank (E) Question n':'o_g' attempted
frefafea 3 9 fg 5+ Wﬁm%%‘w@mm%?
L @) TRETRETE - ®) ﬂmfmﬁa-q‘ﬁm © ifed o= %
(O) S R I ® SEERETE
5. o & e i e R 2 o
@) T, ' ® A © = -
@ feE B) IR T
6.  Which of the following area did not cover in first stage of Indira Gandhi Canal project ?*
(A) Hanumangarh (B)  Bikaner (© Barmer
(P) .Ganganagaf (E)  Question not attempted
e it X wRES & W = # frefated § § @i w8 nfie T8 o9r?
@ T ® R L © s -
o) - I €) SEEraw.
(a) vl - ® wA o © v
B)ongll () SERa A )
8. 'SR’ v ¥ wivw Sqw ¥ ?
A
&) w ® 9 © =
€)  STIIRG HT
2
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10.

11.

| B23

The profit earned after i i i i i

= 435_ St Ufs;léx;g;r:)?::;:l:oi(;rpiziséssﬂ is same as the loss incurred after selling the same article for
(A) Rs.150 | (B) Rs. 14825 (© Rs.13825

(D) Rs,-190 . (F)  Question notattempted

U T F1 680/- T T A9 W wAfefa e T AT A 426/- T H A9 TEE A F HAR T 1A 64 F 50%

1 AT A4 Fio0 |

(A) % 150 (B) F. 14825~ (©Q % 13825

D) % 190 (B)- a9

Given below are two statements :

Statement (I): Ajmer was an important centre of political awakening and socio-economic activity from the

final years of the nineteenth century.
Statement (II) : In 1888, a delegate from Ajmer - Marwars participated in the Allahabad session of the Indian

National Congress.
In the light of the above statements, choose the most appropriate answer from the options given below.
(A) Both Statement (I) and Statement (IT) are incorrect.
(B)  Statement () is correct but Statement (II) is incorrect.
(©O)  Statement (1) is incorrect but Statement (II) is correct.
(D) Both Statement (I) and Statement (II) are correct.
(E) Question not attempted

FEAN): 1951 A= F sAfaa aui 4 S T ST S T A e F U Hee U ha
=5 T 41

A (I0): m1m,ﬁwmmﬁmwﬁ-m-m%uﬁrﬁﬁﬁﬁmm| -
iR T 3 e H, 8 feu e fasedi 8 B e Sage u g |

() I (1) S A (1) T R E

®) T (1) T E, A wA (1) T 2l

© HE (1) T 2, S e () FA €1

D) e (1) A FwEA (1) TAFAE

Choose the odd one out.
=g faa #1 94 =1 590 4 i 21

(A) . s
()
o ﬁ@ o

() Questionnot attepptedfaiﬁﬁﬁ p e

3 PT.0.
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14.

15.

16.

|

What is a Special Ecohoimic Zone ?

(Choose the most appropriate option from below) # et £5 e

(A)  Aspecially created area for those with income of 1 crore and above per annum.

(B)  Aduty free enclave of development and is deemed as foreign territory for the purpose of trade, duties and
tariffs.

(© A unique zone which is subjected to higher taxes and duties.
(D) A special zone created in the capital of India for certain entities.
(E)  Question notattempted i

fer amffer e Fm 2

(71 ® & wat Suged faeres )

(B) WA= 1 TS W ST Sfw o o Wi 3 e e w4
B)  Torm < Yook R A S R, Yook 3R BRep I sked @ et A mr s 24
© T @ AT I R R e Fanf

(D) R it T | Fo YEqET F e s p forTe &5 |

Who is the current Chairperson of Rajasthan Human Rights Commission ?
(A)  Justice Shri Ram Chandra Singh Jhala (B)  Justice Prakash Tatia
(©  Justice Ganga Ram Moolchandani (D)  Justice N.K.Jain

(E)  Question notattempted
T H ST AARR ST 1 s1eae) 3 £ 2

&) =g 5t vy e e - (B) =ATEfd WeRre wifaan

© =k T T YerserEt (D) A E ST

This vitamin is an antioxidant, fat soluble and obtaiﬂ%?;ffrom plant oils :

(A) VitaminC (B) VitaminE (©  Vitamin B,
(D) Vitamin By, (E) * Question notattempted

e forifert <t wodl-siiforee, o foer & 3 39 Wi % ¥ & e foren S 2 -

(4) Tt , B fEafmRd. _ © faafi &,
©) i i, E)  STGEE A

A,B,C,D,E, F,Gand Hare eight friends sitting around a circle facing towards the centre, not necessarily in same
order. H is on the immediate left of A but H is not the neighbour of E or D. Fis on the immediate right of Band G
is the neighbour of E. C is between E and F. What is the position of G ?

(A)  Third to the right of F (B) Immediaterightof A (© ImmediaterightofD
(D)  Second to the right of F (E)  Question notattempted

A/B,C,D,E,F,G ¥ H 18 i, 0 90 % W 3R 32 1 o e v 43 %, s w9 @ 2 70 8 76
H, A & 9% T &IR ¥ af 1, EﬂiD&?Wﬂjﬁ%mB%Mﬁm%mgwmﬁg,clgﬁﬂ
A1 199 G i ey 7 2

(A) FHTE R Y dw (B) A%‘?%‘?@@R © D¥Iwa s
(0) F&EARY g (B) STFufEwA

If the second half of the English alphabet ‘after M’ i§ written in the reverse order, which letter will be sixth to th¢
right of the thirteenth letter from the leftend ? B

A% SISt SpvfsTer 3 A A8 STerdi 1 M S A SR S 5 Fern < ot S ey avere < A
T3 AeR T 91 22 ol

A T+ ® U ~ 8w

®) H (E)  Question not attempted / 3TTWRA T¥A
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17.
(A) I AR HIMR AT G

@) T TS SR SR T
© T faeg W @A
@) T T R S FH e WO
€ 3TN T -y

5 TRAFAI A I FREOLE? |
(a ST~ Ly =4 € ' STE*HR d foFa . © .3
3 fru e faedl A ¥ GO OGS IR F TH Hf9C:
@) 4 (a), () ‘aﬂt (e) B) Haw © @ 3R (e) ©  FaE (b), (d) 3 (e)
) ¥ (), (0) () - () SRE ¥

19, Firsthumanto walk on the surface of the moon was:
(A) Neil Armstrong (B)  Buzz Aldrin (O  Sunita Williams
(D) Yuri Gagarin (E)  Question notattempted
<zH ¥ Tag R I Jren Jedll 99 ¢
(a) e ST | ® F= e © i fafere
(@) F A (B  IaRd 5w

20.  Which country became the world’s first country to make abortion a constitutional right ?
(Choose the most appropriate option from below)
(A) France (B) Holand (© Malaysia
(D) Poland (E) Questionnot attempted
Wﬁwﬁmmmﬁwﬁﬂmaﬁamumw“?
(Fre & & s sage fawed 99)
(A wE ® ®is (© T .
D) Ut B) IR T

21.  Which of the following tourist centre is not located near Ajmer ?
(A) Daulat Bagh (B) Ana Sagar © Gulab Bagh
(D) Taragarh Fort (E)  Questionnot attempted
ﬁﬂﬁf@ﬂﬁzﬂﬁﬁﬁﬁﬂ-mmﬁ?wﬁ%?ﬁ%?
(A) e am \yS AR ¢ © TS
D) RWTE faeT ®) STARA

22. Wh o d as the first woman High Commissioner to India by Britain?
(A) . h‘:sljl:.eenHzl:lf;I:te aethe ™ (B) Lindy Cameron (C) Lilly Gunasekar
O Gil l;tkins oft _ .'(E) _ Questionnot attempted
ﬁ%mmﬁﬁagwmﬁﬂﬂﬁﬁﬂfﬁﬁw“‘m
@) o g ® feieh wwe © ot TR .
@ firer T § S

| B23 5 P.T.0.
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In which year was the High Court of Rajasthan established ?
TS I ~T1erd i Tore fore o g8 2

(A) 1949« B) 1950 © 1951

D) 1948 (E)  Question notattempted/ STTAN ¥¢

Given below are two statements : ; . _

Statement (I) : First Prime Minister of India wished to achieve the objectives of Foreign Policy through the

strategy of non-alignment.

India was never trying to convince the other developing countries about the policy of
non-alignment.

In the light of the above statements, choose the most appropriate answer from the options given below.
(A)  Both Statement (T) and Statement (II) are incorrect.

(B)  Statement (I is correct but Statement (I1) is incorrect.

(©  Statement (1) is incorrect but Statement (II) is correct.

(D) Both Statement (I) and Statement (IT) are correct.

(E)  Question not attempted

RIERUCLERECEIE

Statement (II) ;

()  HIET (1) SRFHET (1) ST T ¥

(B) I (1) FE &, AT werT (10) Tor ) -
© I (1) T B, A e (1) 5 B
O) m(l)aﬂtmm(n}ﬁ*—ﬁﬁﬁﬁr”

® A 5o :

Rhinoceros are found mainly in one of the fo]lowing National Park/Wildlife Sancl'uary :

(A)  Periyar (B)  Rajaji (© Mhadei
(D) Kaziranga (E)  Question not attempted

el gem: T 4 fra Te weasiy ARG H 1 S § 2

&) TR (B) TSl © wrE
(D) T . (E)  3TuRa v

The assertive role played by the judiciary in the protection of the rights of the citizens and in promotion of justice
in society by intervening in areas falling within the domain of legislature and executive is called :

(A)  Judicial Review (B)  Appellate Jurisdiction (©  Original Jurisdiction
(D)  Judicial Activism (E)  Question not attempted

mmhmmwﬁﬁ%ﬁwﬁ#ﬁmﬁﬁw%ﬁhﬁu@@mmﬁwwﬁmaﬂ%
BRI GAS § =1 & e &1 1 &8l S & ?

(A) =g grieo (B)  eiteity tfyeftar © 3 st
(D) e iFaamEr . @  STAa u

;gm§1?: i’{iﬁ‘ﬁ:ﬁ::;’g iine W(I;;ﬁe“;?; Aurobindo Ghosh (© Mahatma Gandhi
(D) Jawahar Lal Nehru (E)  Question notattempted

Ve it oo o’ I R fordt 32 .

&) 'wwﬂiﬁm B) 4t erfad H - (©  weTe Tk

(D) YR A Few ® SFaRa T

L !_\,:.'B?a 6
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Which of the following states has the highest solar power generation capacity ?

(A) Tamilnadu (B) Karnataka ©
(D) Rajasthan ()  Question notattempted
e H R Pt o 3 HR Sl SR A Wl S € 2
(@) g @ FeH ©
O) TH ¢ (B)  STgafd 9ed
29.  Which of the following is the largest zinc producing mine in Rajasthan ?
(A)  Sindesar Khurd Mine (B) Jawar Mine ©
(D) Rampur Agucha Mine (E)  Question notattempted
fore R TR F T 9L ST IR G § 2
@ foe e ww (B) STREEA - ©
(@) THRSITEEH B)  TFIRA w
30. Choose the most appropriate indirect form of the given sentence :
“Wait for me at the bridge”, said Rahim.
(A) Rahimasked to wait her at the bridge.
(B) Rahim'said that you have to wait for me at the bridge.
(©)  Rahimrequested her to keep waiting for him at the bridge.
(D)  Rahim told her to wait for him at the bridgé. o B
(F) Questionnotattempted :
31. Teais an indigenous crop of : =
(A) China (B) SriLanka - ©
(D)  Britain (E)  Questionnotattempted
= o 30 =1 TF M e § 2 =
@ ® e ©
o) fafew (B)  3THIE T
32.  Periscope works on the principle of :
(A) reflection of light (B) diffraction of light ©
(D) refraction of light (E) Questionnotattempted
A forern fid T R R € ?
A) v e @) v fae ©
(D) VT e €  3rgafd g
33.  Which of the following state is known as Molasses basin?
(A) Mizoram (B) Assam - ©
(D) Manipur ()  Question notattempted
Frerfafa 3 @ S a1 7od Aafaa afe % 7§ S S E?
a) i . B W ©
@) HgE (E)  STITRG
34.  Choose the most appropriate preposition from below in the sentence :
India is beset____many problems these days.
@ to ® with ©
D) of « (E)  Question notattempted
| B23 7
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Kerala

EaG

Kayad Mine

FHARE EEH

India

scattering of light

EEANREILE]

Tripura

g
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The smallest urit of data in computer is _____.é---" ©~ Bit
) KB ®) Question notattempted
D) Nibble ¥

® T
() i (KB) s
o ®

lled as -
e S . e Telugu Movemert
(© The Region of Andhra Movement D) The vVishal Andhra Movement
(E) Question not attempted : '
mmﬁmﬂeﬁﬂ“‘ﬂwm:]_ _
(a) T S 0@ gy S
© i i e O foraret 3y SR -
® S
wﬁmﬁ%%mﬁmwwmmw%? ,
@) A ® da# © FH -
@ e () AT
What is the percentage of reservation for women under MNREGA Act, 20057
(Choose the most appropriate option from below)
e U 2005, %azawi%maﬁ%mmwzmuﬁm fera T € 2
(fire1 § e 3aga faheT 1) :——:
A) 25% (B): 33% © 40% -
(D) 20% (E)_ Question not attempted /3ARd 9
The Sankosh Hydel Project is Joint Vent;g;_i?eMeen :
(A) India and China (B) -. Nepal and Bhutan India and Bh
(l?) India and Nepal ('E)— Question not attempted @ In.an B
mmﬁmmﬂmﬁaﬁ%ﬁmwm%?
()  ura S B) T SR g2
© wrasR

@) AR A ¢ @  STERa W Gl

The Rakha Coppér Mines are located in

(B) Odisha (©) Madhya Pradesh

(A) Jharkhand

D) ~I.lajasthan (E)  Questionnot attempted

@ IR GG el e 7 £

@ s, (B ifew © TR

$)' TS (E)yy STFUIE ¥

(Aiuchgo; t;tihe following amendment act (%;Evjd%ci ;eservaﬁon of seats for women, in the Iu.:rban Local Bodies ?
D) 65 ) ~, Question notattempted @ 7

mﬁmqﬁmﬁ r . T
i Wﬁ,ﬁﬁﬁ;ﬁwwwmﬁﬁmﬁmﬁmmmmm
() 68 '
©) 654 g 73% / © 748
ST ¥

:I“:-.B 23
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Who among the following moved the ‘Objective Resolutions’ in the Constituent Assembly of India ?

* (A) Rajendra Prasad, (B) B.R.Ambedkar (© Jawahar Lal Nehru
) B.N.Rao ()  Question notattempted
g § @ Fre R s s ' sted dehed wega 52
(A) TSR ¥ER ®) W3R TEEH © e Jew
O) WA () Ty )

43. Inthe following question each set of numbers follows a similar pattern, find the missing number (?).

ﬁmﬁaﬁaﬁmﬁmﬁwmu{awwmaﬂmm%aaqmﬁ@r(?)mﬁm|
A) 11 ® 19

(E)  Question not attempted/ ST 7

© 8 ,

© 13
44, When an emergency is declared due to the failure of the constitutional machinery in the states. It is invoked

under: B

(A) Article 352 (B) Article356 . - (©) Article360

(D) Article 350 (E)  Questionnotattempted

59 T A WU O i fawerdl o SR mmaa’iﬁﬁ-—@mm%m%m AT H B ?

B =R 352 B) FTDII6 — - © IR 360

(D) TSR 350 E FEERETE — -
45. Which of the following tourist centre is located close to Bam:e__pz_:

(A)  ShergarhFort (B) Natanion ki Haveli (©) Sam Sand Dunes

(D) Kiradu Temples (E) Questionnotattempted

frefataa § § =5 O 7T $7 et % wa fer €2

a) I fRen (B) ATl H wSed © THHIFWHIA -

O fArgH (B) STIURd W

46. A person is facing East. Then he turns 135° in clockwise direction and finally turns 180° in anti-clockwise

direction. In which direction is he facing finally?

(A) South (B) South-East .
D) West ()  Questionnotattempted

e =t g e F e sifirE & | SO 915 9% 135° Ut 1 fwn H A & S ST 180° w2t ¥ fagda feon §
e ¥ | a7 e R T FH IR T HE T2

@A) e ® RO © S -

@) i ® SgEEwE -

Science, Social Science and English together is 140 more than the
hat is the average marks obtained by him in Social Science and

(© North-East

47,  The total marks obtained by astudent in Maths,
marks obtained by him in Science and Maths. Wi

English together ?
af nfora, Farg, AT ferr ot affish H T O 510 T e ster, fagm iR it & wra afeRi | 140 fer

%,?humrﬁrﬁﬁaﬁaﬂtaiﬁﬁm;mmﬂaﬁﬁmaﬂmw%?

A 70 @B 60, © 50
D) 75 () Question notattempted/ IR T
| B23 s 9 P.T.O.
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Which of the following is not a bitwise operator ?

frrefaten ® ¥ SR foeans s 78 § 2 Sl 512 1 votoin

@ & ® > © <<

©) .- (E)  Question not attempted/ 3TTAd 7%

Which of the following archaeological sites of Irid_ﬁs Saraswati Civilization is in Pakistan ?
(A)  Raipur (B) Kalibanga (C) Harappa
(D) Dholavira (E)  Question notattempted

oYy st wam = e § A B @ e o afee 6§92

@ TR, ®) s ‘ © w-
D) %ﬂaﬁ’m E)  FIORA H

In PowerPoint presentation, animation mainly decides.

(Choose the most appropriate option from below)

(A)  how the items in the slide appear. (B)  how the text looks.
(© how theslides rotate. D)
(E)  Question not attempted

TiEUiE= ISiev H Ui e w9 § o e s 2

how the slides appear.

(7 4 9 qad@ sugaa faeey )

A) TaEs ¥ a F a9 (B)- e 5y @ 3@ R

© TREE g E (D m%ﬁ@éﬁ%t

)  gERa £

Who was called the Father of Indian Renaissa;flcé_:?

(A) Ravindra Nath Tagore (B)  RajaRam Mohan Roy (©  Keshab Chandra Sen
(D) Debendra Nath Tagore (E) Queé:ﬁon notattempted

R TSRO 1 S Fohl g1 T 2

(A) Tl MY IR . (B) TS M e 13 © HV=EEEdA

(D) 3% T HR ®  orFara T

Integrated Child Development Scheme (ICDS) was started in the year:

THIFA AT T Ao (o ot Aww.) fra ad yie 1 7 oft 2

(A) 1975 (B) 1980 © 1985

D) 1970 * (E) Questlon notattempted / 3TARE yy

lt’ll;ll;l:l ;fr t?he following input devices allows foimput alphanumeric characters and special characters into th¢
(A)  Monitor (B) Prmter Ke

(D) Mouse (B) Questlon notattempted 2 ghimia

ﬁﬂﬁiﬁg ;ﬁ I W e feary, avfsit ‘E’lf?l (characters) 3R ferdry Uty (characters) T gt SENED
@) AHIR ® B © WA

O) TEE () Iguia uw

I B23
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Who among the following is the member of the Inter State Council and the Governing Council of Niti Aayog,

both ?
(A)  Chief Minister of States (B) Governor ©
(D) President ()  Question notattemp ted

mﬁmﬁﬁﬁm@w@%mﬁwwmﬁnm>ﬁmmm@
@) T & e el ® T © rEE A
@ Tl - ® T

Psamments, Orthents and Fluent are sub-orders of which of tl

Speaker of Lok Sabha

1e following soil type ?

(A) Inceptisols (B) Vertisols (C)  Alfisols
(D) Entisols () Question notattempted
e, mmﬂ@ﬁmﬁmﬁﬁ@mﬁmweﬁm%?
@) TRfeded @) dfdea" © Fferded
D) U E) SR F
@ Gy ¥ g 9% fFad 2 €2
(a) = ® T ©
© - ® oA
Which of the following is not a social networking website [ R
(A) Snapchat (B)  X(formerly Twitter) (© Hotmail
(D) Facebook (E)  Questionnotattempted
frefafiad § @ FH T TR AT JawEe T € 2
A) U= ® X (@ ¥ fa) © Fewmd
D) WEgH. B sEE@ET

Plantation of which of the following trees can help to prevent forest fires in Himalayan region?

(Choose the most appropriate option from below)

(A) Rhododendron (B)  Chir pine
(B) Question not attempted

(© Tendu

(D) Mahu
ﬁmﬁf@ﬂﬁﬁaﬁﬂwqawaﬁﬁaﬂﬁmﬂﬁﬁﬁmﬁm%?
(ﬁqﬁﬁwﬁmﬁmﬁﬁ)

@A) JESEgH ® HUE - © =T
(D) ™I € R w

Compute the : Binary Code addition (BCD)

mmm(nm)mﬁmaﬁ:

243=_17 .

(A) 0101 - () 1000 © 1111
(D) 0000 (B) Questionnotattempted/aﬂﬁﬁ'rl‘sr‘r—r

" P.T.0.
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‘ Anti-Arrack Movement', in Andhra State was a movement against:

i i m below Fi = .
Eglo?s::lti:)ehr;(i)ss;appropnate option frc(:B : Agliculmre S
(D)  Poor condition of farmers () Questionnot attempted
‘aret feiedt sTiRrer ', Yy waw | ¥ foeg eT=_Iaq A1
(Frer 3 @ et R e ) _
(4) IR ® ©
(D) Towrami =t <FHE T () 3 99

Which of the following was NOT the immediate major challenge of Independent India ?
(A) Shape a nation that was united

(B)  Development of the society

(©)  Adopted representative democracy

(D) To accelerate the rate of industrial development.

(E) Questionnotattempted

frafafeaa o 9, @ni= wra Y, 5 G aemfas 9q@ A T8 9 ?
(A)  TH T Y AHR AT S Thdl 6 A H 41 T o

®) TN w e :

(© 3ititea gfaffae dead ~

(D) SirEnfis fawm =t = A9 FEA

(B) AIOHA9H

Choose the most appropriate articles for the sentence given below :

But mine is not typical story. In my story Scotsman is generous, Irishmanislogicaland ___
Englishman is romantic. Oh, if it's fantastic story I'll listen with _ pleasure.

(A) a;the, the, the;

(B) - a’thé, the, thé;a,

© ; the, an, an; a,
(D) aj;aan,an;a,
(E)  Question notattempted

States Reorganisation Act was passed in :

(A) 1953 B) 1955 y © 1956
(D) 1952 (E)  Question not attempted

T4 Yfed afafad e wiftd geon 41?2 '

(A) 1953 H° ®B) 1955 H bl © 1956 ®
©) 195274 * € SAfEwE

The poultry feed includes :

(Choose the most appropriate option from below) B e

(A) Maize and barley only (B) Maize, barley, pearl-millet etc.

(© Concentrates and maize only (D) Roughage and concentrates only

(E)  Question not attempted

g | T e AT

(Fr=1 o was Suge foreed g4)

(A)  Fecd Hae 3R S fhisd (B) msﬁwmﬁ:

© Foe Ml =R TR e (D) o HE SR e =W

® IR T

| B23 12
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67.

What should come in the place of question mark(?) in the following alpha-number series ?
frrfefan aofsmmis sfaen § wwars faw (7) % @ T A e ?

X4Z, T9U, P25P, 149K, 2, D169A.

(A) "GBIF (B) HBIF © Gi121G

(O) HI2IF . (E)  Question notattempted/3T] A 99

Pangong Tso and Tso Moriri lakes are formed in which part of Himalayan Range ?

(A) Himachal and Uttarakhand Himalayas ' ' (B)  Kashmir Himalayas

(© Darjiling and Sikkim Himalayas (D)  Arunachal Himalayas

(E)  Question notattempted

i et o o M el ferera & R &= | ferm €2

@A) T it swoEs fedwer- (B) FwR femmem

© e iR fafem ferem (D) eTEuTEw feHTe™

() TORa Fe '

Who is the author of song ‘Dharti Dhoran Ri’ ?

(A) Allah Jilai Bai (B) GavariDevi (©) Kanhaiya Lal Sethia
(D) Vijaydan Detha (E)  Questionnotattempted

‘et O R TR F TieER (SEw) FE €2

(a) T forems s (B) TR © Feama dfem -
O TasEgE S (B) TG g

= 9 S g o fm & o ygwa e g2

@ ® 5 © -
o ; - (E) aﬁﬁﬁﬂm

Given below are two statements :

Statement (I) : Fishing can be done only in freshwater ecosystems.

Statement (II):  Fish s a cheap source of animal protein for our food.

In the light of the above statements, choose the most appropriate answer from the options given below.
(A) Both Statement (I) and Statement (II) are incorrect.

(B)  Statement (1) is correct but Statement (II) is incorrect.

(©  Statement (I) is incorrect but Statement (II) is correct.

(D)  Both Statement (I) and Statement (II) are correct.

() Question notattempted -

e ) o feg T E

HUA (I): mm%aawmmﬁﬁ(sﬂﬁm)ﬁam%t
FOA(N):  Hoe TAR @M 3 oI Ty W I § ¢

S T 3 e d, A e e faeredt # @ wed Sy e g |
@) e (1) SR e (1) ZE 8 e €

®B) e (1) TE & AT HA (1) TR T 1

© w (1) 7o & AR Hme (1) T T

O) &g (1) S weEA (1) I Hﬁ%u

€ AR WA

| B23 13 P.T.0.
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72,

73.

_— —auy
e AL LLALLALLLL VA LA SRR A Laan anam e v - @y

India ? s

(A)  Uttar Pradesh (8) Karnataka _ i SO (O Gujarat

(D) Kerala (E)  Question notattempted

T4 e e gra rafes Fafien w0 ween SPaeh et etem s & fe T # STl o man
W TR - ® FeH © TE

D) F= ® oERATE

A candidate who gets 20% marks fails by 15 marks but another candidate who gets 42% marks gets 12% mg
than the passing marks. What is the passing mark ? '

20% S FI< A FNA SHRAR 15 3ie61 Q 351 8 1 2, AR 42% 37 97 F e 3 IHIAR A 75
3TV 12% 3ferew si frem ¥ | i el = 82
A) 45 B) 40 -

© 33
D) 30 (E)  Question not attempted / ATad 997
If*<’ means ‘minus’, >’ means ‘plus’,”="means ‘multiplied by’ and ‘$’ means ‘divided by’, then what would b
the value of :

31>81%$9<7is:

g ‘<’ AT > SR, = et s :
31>81$9<7 T T : ==

@ 33 - ® 37 © u
D) 31 (E)  Question not aﬁ;ﬁ;pted/ I 9
Given below are two statements : (33

Statement (1) : Dadudayal (Kabir of Rajasthan) was born on Phalgun Shukla Navmi in 1542 AD in Dholidul
village of Alwar.

Statement (I):  Dadu gave his teachings on Brahma, Jiva, Jagat and Moksha in a simple languag
(Sadhukkadi).

In the light of the above statements, choose the most appropriate answer from the options given below.
(A)  Both Statement (I) and Statement (II) are incorrect. - =-

(B)  Statement (I) is correct but Statement (II) is incorrect.” .
(©  Statement (I) is incorrect but Statement (II) is correct.f
(D) Both Statement (I) and Statement (II) are correct. ==
(E)  Question notattempted ' b

AT FARYTE g
A (1) : @m(m%ﬁ)mmm%ﬁgﬁgﬁ/ﬂﬁgmﬁhﬁlmAnﬁwwwé
e il

HAT(): TG A G (FYFHE) H e, Sfia, S e el wosTe sedy faw
ST el o ATl H, = e e famed 4wl sugea s

(A) &Y (1) R HAT (10) T T Tl

(B) YT (I) T T, KT hg (11) Terd B

© A (I) e B, AfHA e (1) W R

(D) g (1) 3R & (1) SH e &1 -

() SuRa¥yH

‘. B23 14
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GET IT ON
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74. Dholpur Combined Cycle Power Station is operated by
(&) Ra]ast.han Rajya Vidyut Utpadan Nigam Lid,
®) Adani Power Kawaj
© Ne-yvell Lignite Corporation India Ltd.
) Ra]ast.han State Mines and Minerals Ltd.
() Questionnot attempted
S HARE WA TR R Fretfirfi 3§ 3 e gro oo 22
(A) TSI T4 f9e Seare o fafing
B) T TR Han
@ Tach farge frm wwa fafiee .
D) TSN T WIH 3R @i fefiree -
(€) ST WA

75, Which of the following is not an agro-based industry of Rajasthan ?
(A)  Leather Industry (B) CementIndustry (©) Textile Industry
(D) RubberIndustry (E)  Questionnotattempted
freferad 3 ¥ HIF | U TSRAW 5 H snenfia e w sy 7@ €2
(A) S S B) HHesEm ¢ (© U T
O TS E (E) ¢ St wed

76. ‘Operation Flood’ is associated with __—t_— :
(A) White Revolution (B) ?-_-._..'Efue Revolution (O RedRevolution
(D) GreenRevolution s
e s A
() v i | © wEwEY -
O) wRawifad x

7. IfB = 25,SON = 33, then PEN = ?
3% B = 25 ¥, SON = 33, 7@ PEN g T fereedt # & foeieh araret &2
@& 33> ® 46 O W .
D) 35 (E) Questionnot attempted/ﬂ':ﬁmﬂ LR

. The life history of the saints which is available in poetry form in Rajasthani language is known as
(A)  Jhamaal (B)  Jhootna (©) Parchi
©) Vaat (E) - Question not attempted
Wwﬁwmﬁmﬁﬁﬁwmﬁwmm% ?
&) B) - #=T © R -
©) =m (B) [ SR 7

. Choose the most suitable word for the pl\raéé"F:it to drink” :
(A)  Venial (B) Contaminated (© Hard and Saline
®) Potable (E) Questionnot attempted

| B2g 15 P.T..
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ge increase per annum in the ““&ﬂ\

is5: 6. If the percenta
choolis 5 P frer one year ?

80.  The ratio of the number of boys and girlsinas

: i hat will be the new ratio a : 86 €
of boys and girls be 20% and ?0% l‘t.?SPECtIVEIYr wi . : e IR F R e § YT 20% m?iun <
U T H eTe S aigfl W Her H I 5 6 € Sial : '
= it g At &, A T o 6 I T S W2 - ,
(A)- 10:13 B 11:13 © '
(D)" 10:11 ()  Questionnot attempted/ ST T2
81. I which month is the festival of Kajli Teej celebrated in Bundi?
) Bhadrapad @) Chaitra (© Shravana
©). Phalgun ()  Question notattempted
o 7 | horelt st 1 iR S § wAw S @ 2
VI ® = ' ©  FEm
O) WM . ©  3TgaRa v
82.  Choose the most appropriate option for the passive form of the sentence below :
They rang the church bells as a flood warning
{A)_ Asaflood warning, the church bells have been rung.
(B)_ The church bells are rung as a flood warning by them. .
{O " The church bells are ringing a flood warning.
_ ('D)- The church bells were rung as a flood warning.
{E)—- Question not attempted
83.  Which is the largest ocean in the world ?
{A)- Indian Ocean ()  Atlantic Ocean (©  Arctic Ocean 87.
(D) Pacific Ocean (E) Questionnotattempted
farva § 9=l =rS1 HEMTR HFE 2
() e HeER ¥ - (B) 3ok HEHIR (©  3TehieH MR
(D) A FEER * B)  SIHE T 88.

84. Inhow many agro climatic zones, is the state of Rajasthan divided, for the purpose of agriculture ?
it % AV, Tod™ T I o FH ey & 7 fawfom fora mn 2

®. 10 B 12 © 20

‘D) 8 (E)  Question notattempted / STTARA T&

f 3

e

85. [Ankur deposited Rs. 8,000 at simple interest which amounted to Rs. 9,200 after 3 years. Had the annual rateof ~ 89,
:flﬁ[;é___restbeen 3% more, how much amounthe would have got?

(A). Rs.9,800 B) Rs. 9920 ; © Rs. 10,000
TD)' Rs. 9,900 () Question notattempted
ST X 8,000 TH WYRY <A YL ST TR S o 3 o =1 9,200 ¥4 & Q1 AR aNfefeh =t 39% ek B
ferarft ¥ st Bt ? :
A) % 9,800 (B) T 9920 - (© % 10,000
©) % 9900 ' B) STIARa A
| B23 16 L
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g6.

89,

Given below are two statements :

GET IT ON
Google Play

statement (I) : Dr. Bhimrao Ambedkar led the Mahad Satyagraha in March 1927 to challenge the regressive

customs of the caste IHindus.

statement (I):  Dr. Ambedkar established the Bahishkrit Hitkarini Sabha in 1924 to highlight the difficulties

and grievances of the dalits before the government.

In the light of the above statements, choose the most appropriate answer from the options given below.

(A)  Both Statement (I) and Statement (11) are incorrect.

() Statement (I) is correct but Statement (I1) is incorrect.

(O  Statement (I) is incorrect but Statement (11) is correct.

(D) Both Statement (I) and Statement (11) are correct.
Question not attempted

®
RAFE R

FOA(D): S TR erEeaR X W 1927 § fig i R whmh wensii w1 T T ¥ Hers HoMIE A

foam —

FO@D): S ST ¥ 1924 § WER F wua =i H FeAEdl dn fowd w1 S w4 7 A

feaemfoft g =t T =T L
IR FAT ¥ e H, 3 f T foedi # & W sugE s |
@A) I (1) SR HAT (1) I T € )
B T (I) & €, e e (1) TTerd €|
© Q) TRE A FE @) AT
O wE@SRmEE@IAATE 0

Choose the most appropriate option: —

A good official letter need not have - —~

(A) Clarity of language (B)  Clarity of subject ©
(D) Propersalutation (E)  Question notattempted

I GRge & T 9res 1 WA e s 7 e T w2

(A) THEE o H wTH

B) TTHRI IS < g TIF T FEad

© forcht farfere T B W T H TUH -

(D) Sl % &9 H

® N |

The Vishakhapattanam Industrial Region is famous for which type of industries ?

(Choose the most appropriate option from below)
(A) Automobile B) Engineering ©

(D)  Iron-Steel (E)  Question notattempted
ez SieifTs %ﬂﬁﬂwﬁmﬁﬁ?mm%?

(Fre1 3 el S fased I) _

(&) s @® ESitErT ©
D) <ieswd - €  TIaRd T

!Bza 17

Latin quotations

Ship building

erst fet

P.T.O.
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0. Which of the following is not the alignment of the paragraph in MS-word ? R
(A)  Right Alignment (B) Justify © :
D)  LeftAlignment (E)  Question notattempted
Fresferfian & & 2 o qa . 7 # S o e 76 2
(A) < W @) wfewd © FEIWET -
@) = HE () oTgaRa v

91.  Allthe aspects of population are discussed in which of the following subject/science ?
(A)  Demography (B)  Oceanography (©  Cartography
(D)  Ecology (E)  Question notattempted
ﬁ%@aﬁﬁmw;ﬁmﬁm%wﬂmmwaﬁ%?
(&) SrEifers - ® wHf famm © wAfEfE
D) wiRfefant (B) STNRE v

92.  InIndia’s context full form of CSIRis :
(A)  Council of Science and Innovative Research.
(B)  Council of Social and Industry Reproduction.
(©  Corporate, Social and Industrial Research.
(D)  Council of Scientific and Industrial Research.
(E)  Question not attempted
A % Hes H CSIR o1 quf w9 1 % 2
(A) FRESA AE 9B s At Rad
(B) SEfA F W e 3vefiE feawH
© FNRE, N e 3vefizad fad
D) mﬁam’mﬁr@ﬁﬁqm@mm—_
(B) TR 3

93.  The artificial satellite which is seen at fixed position when viewed from the same location is called :
(A) Polar satellite (B)  Remote sensing satellite
(©  Geostationary satellite (D)  Non polar satellite
(E) Questionnot attempted .
o€ P IE ol Il w0 @ sreeie w0 SR fifvaa fef (frag dftem) & Saramrd -
(A) URR3WWE - B) 5 T (Remote sensing) ITE
© & e () T R e
E) SR

94. Which of the following district has highest productigé of cotton in the state of Rajasthan ?

‘ (A) Bikaner (B)  Sri Ganganagar (C©) Jaiselmer

(D) Jhunjhunu (E) Questi_gg_}_{}?t attempted
et F TR I § HUH H T TR SIS H el e €
a) R ®) & TR - © SR
® ¥ ()  STIaRa W

| B23 | 18
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r"
The Council of Ministers of In
95. () Prime Minister ot Indian Union is collefctwely responsible to the
() President g Rajya Sabha . TokSabha
. — ) Question not attempted
Rt T o e Hee
, 5 R i w4 Frry o el 6 82
() T -
; (B) T=EW © Tma
@ T ®  srafame
RE]
Who was the Chairm: : 3
» Assets Reconstr:lacl:i?r: ;uolff:;lzeA‘I:{OI;;l;n ittee on financial systems in India, which recommended the setting up of
h. P. Chi
®) f) MCI“d““‘ba‘?‘“ ®  Sh.PranabMukherjee (©  Sh.M.Narsimha
©) 3 £ Manmatan Singh (E)  Question not attempted
R i;ﬁ?ﬁwrﬁﬁy TR wfify ¥ sy w9 9, frei sfwgafy 3 ERE F (LIALTE,) H O H
(&) # R ek ®) R v gEst © Ao E .
@) L e e ) sTara A
97. Whatis the main function of central processing unit (CPU) in computers ?
(A) Totransmit data (B) Tostoredata (©  To process data
(D) Todisplay data (E)  Question notattempted
FgR H Yga WG gf7e (CPU) &1 7& & &1 § 2
A) Siw FH gEftE FE ®B) e w1 Hufed HE © el T HE
D) 3FSl =l w=d F (F) FHAE A
98. Choose the most appropriate English word for:
Hgon
(A) Proconsul (B) Proclamation (©) Procession -
(D) Procuration ()  Question notattempted
9. TheIndian Institute of Space Science and Technology (IIST) was established in 2007 at:
(A) Thiruvananthapuram (B) Vishakhapattanam (©  Jodhpur
(D) Chennai ()  Question not attempted
TRt siafie fagm SR dienfient Jear (3T T TEA,) 2007 § el W wfaq fepan war e ?
() freardg@ ® fomEmET © SR
O ® SR
100, Inwhich of the following cities of Rajasthan Ma.hindra World City is located ?
(A)  Jodhpur (B) Jalpur - (© Udaipur
(D) Jaisalmer ()  Questionnot attempted
: - # feud @2
Tz e firdh o ¥ frt A A o T
A) Sy ® X © SR -
0) SR ®
82 19 P.T.0.
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101.

102,

103.

104.

105.

106.

247

What is India’s national flower ?

(A) Rose (B) Roheda (©  Sunflower

@)  Lotus ()  Question notattempted

MR T Tt o e & 2

@) T B el Y © qEEt (YrieEt)
D) = - ) aﬂﬁﬁﬁ T

Ilie l:“i‘z‘st two figures are related in a certain manner. From the given options choose the correct option th,
stablish the similar relation with the third figure to replace question mark ?

Wrﬁa@ﬁﬂ?wﬁﬁaﬁaﬁﬂﬁaﬁm%wﬁuﬁ & 1Y T T w1 Hid g YA fae
R IR W oo = = i . W@ﬁf

000
-~

) ®) ©

00000

000000
00000
k!

D)

b
kg

(€)  Question notattempted / TR w9

Q;Eh gﬁu ﬂ;i:e) ;csillhc:w;rnir;ci;aC?onstituﬁunal Amendme_fi% gave constitutional status and protection to the Panchayat
A) 73rd B) 74th 75th

(D) 72nd . . ' (E)  Question notattempted B

Frefaten 3 & frg St dviem 3 Wﬁﬁﬁmﬁmﬁ&nﬁaﬁﬁmﬁmﬁaﬂtwmﬁ?

(&) 734 (B) 747i_- © 75§

© 7o )  ara v :

‘e’ F fafea e €

@A)  FHuRE ® Tl © g

(D) =R - E) SR we

If the wheel of th i i, = in ci
e wheel of the engine of a train, - meters in circumference makes 7 revolutions in 6 seconds, then the speed
(in km/hr) of the trainis:

: 30 () |
s foel XRS5 o R 2 A o 7 6 3 7 e 8, 9
(ot ) 7 22
© i . o) © 27

D) 18 - (E) O_?J:gésii:on not attempted / TR yyq

Which one of the following Iron-ores known as i;ﬁn-fcarbonate ?

(A) Siderite (B)  Magnetite 0 tisionite
(D) Haematite (E)  Question not attempted

Pt # & 1 @ Te- ST 1 STeLHTERE 3 w9 % 9 o &2

@A) faewse ®) AR © wmEEAEe
D) e - ® i@ yE

| B23 20
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107.

108.

109.

110.

111,

1,

The diameter of a sphere is 8 ¢ i
™. Itis melted and drawn into a wire of diameter 4 mm. The length of the wire is :

e A 8 R T O 4 o oy 35 e 6 affen e &, A A e 0 ¢

2
A 4266 — cm 1 1
A 3 M) 2133 —cm + © 3123 —cm
3 3

2
D) 1066 — cm rc
3 (B). /. Question not altempted/aﬂam'

TR RICAFTH IR g2

@) FE ®) * FHER - © FHEH

O T ) | eTafa

Which s:lclhedule was added to the constitﬁtion by the 73 constitutional amendment of 1992 ?

®) Zth (B)  oth © 11t

O . . (E)  Question notattempted

739 WiawT Tee, 1992 ¥ wiaew & w- sHg s w2

@ 7 ® o © i~

O 6d € oafE T

When was the state of Rajasthan completely unified ?

(A) 30 November, 1957 (B) 1November, 1958 (© 30November, 1959

(D) 1November, 1956 (E).- .Questionnotattempted

TSTET T4 1 QU THIHT0T Tl gl ? o

(A) 30 TER, 1957 (B). .1 TR, 1958 © 30 TER, 1959
D) 17E, 1956 * (B) - STTafRa 5

___ hasbeenestablished, by gof{_emﬁ*tent of Rajasthan, with an objective to disseminate useful scientific
and technological knowledge at the ground root levels.

(A)  Science and Technology Resource Centre

(B) Science and Technology Recreation and Research Center

(© National Research Institute

(D) StudentScience Center

()  Question notattempted

T T, famm wa gt faum g & THA TR TH I A0F T FfER 96w
YOR 9 o 3299 § vl fRar TRl
@A) foum wd denfR SEEA FE
®) fogr T ST RS T ST
© Ui srgEyT W - '
@) B for #7 o)
€ FHRa A €3
Who has been chosen as the recipient of ff_ﬁ_sl-_Lokmany i i ol
(B). AmitShah (O Narendra Modi

(A : Annadurai -
(D; g: Ilz“ag};is:r:ny L (E) Questionnotattempted

'41% Gt freres! R ¥ ferg Fdl AT

(), weferand sERY @® RS
©) = % foam | ST
| 8oy 21 P.TO.
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113.

114.

115.

=
Google Play

f 116.

ment (NAM) a8 ———— QoS Rajgopalachari
(B) Sardar Patel f Lrjo 918114 "1!

(F) Question not attempted

Co-founder of Non- Aligned Move!
(A) Mahatma Gandhi
(D) Jawahar Lal Nehru

TTeFRAE STdIe (NAM)  He-Hes q: ™
(&) e B wER © . Ter
(D) e o Aew ®) arffﬁﬂﬂ‘{-i

; . . . - . - 4 C
Three resistances of 3 (0, 4 Q and 5 {2 are connected in series in a circuitin which a battery of §V is also connec

Which of the following option (s) is/ are correct A

(3)  The potential difference across all the resistances is same.

(b)  Thecurrent in each of the resistance is same.

(© Theequivalent resistance of the combination is 12 Q.

(d) Thecurrent in the circuitis 0.5 A.

Choose the most appropriate answer from the options given below :

@)  (9)and (d)only B)  (b),(d)and (d)only © (@ ®) (©and(d)
(D) (a)and (b)only (E)  Questionnot attempted

T e d A 30, 40T 50 mﬁa@g%ﬁmwsvﬁéﬁ off & %1 Tt feafa & Freafat
F3 W S fred W 42

(@ T wRR § favarR e e, _

©) e SRR e

© @it ufely 1 wAged Tl 120 @1 e

@ b fod 4R e 05 A B bl
3w U famedl § | waw IOgE ST
@) e () 3R (d) B @ (b), () IR () © @ Ob) (IR (@) -
D) %I (a) 3R (b) (B) 3TN W
‘Critical Minerals Summit, 2024’ was held in which of the following places ?
(A) Surat (B) Dhanbad ( Bhopal
(D) New Delhi (E) ngg_tion not attempted & "
ﬁﬂﬁ@aﬁﬁmwm‘ﬁﬁmﬁwmzom' T g ?
@ T ®) b - © v
o) 7 feeeh ® aﬂ':ﬁﬁ?' Eis

The pair of autosomes present in human bemgs 87

@A) 227 ® 21
© 46 -

©® 23 . '
(E)  Question notattempted e

" |B23 i
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117.

118.

119.

Assets Reconstruction Fund (ARF) was set u p for the purposeof

(Choose the most appropriate option frorh below)

(A) To finance the Commercial Banks on low rate

@) Tofinance the Development Finance Institutions on low rates

(©  Toassist Reserve Bank of India on managing Commercial Banks

@) To takeover the bad and doubtful debts of Nationalised Banks and Development Finance Institutions
(E) Questionnotattempted

it gt ff (ARF) Y wem ;e T et

(Fre ¥ | e 3T fershed ) O

(A) o St ® w9 i W fad wee B & fan

@ T fom deur it w9 < w i 50 % fag

© i S & weem | vty e de t wera w0 % e

D) T S sl faer o Seurt 3 wve SR dhey wei # o frm § 9 % fen -
€ TR T

Which Indian state recorded the highest wind capacity during 2022-237
(Choose the most appropriate option from below)

(A) Gujarat (B)  Rajasthan (© Tamilnadu
(D) Karnataka (E)  Questionnot attempted

0022-23 ¥ IR o uRdT T § Tw we e (e Shafafe) <o 1T 2

(fr= § & vl Suge fased ) (I

() TeRE ®) TS © dfieg -
@) s () AT

Which of the following trade policies introduced l\_d_EIS- Merchandise Export from India Scheme ?

(A) Foreign Trade Policy, 1991 (B) Foreign Trade Policy, 2015-2020
(© Foreign Trade Policy, 2021-2024 (D)  Foreign Trade Policy, 2004-2009

()  Question notattempted
W@Hﬁﬁﬁ?ﬁwﬁﬁﬁMEls-W@ﬂﬁﬁhiﬂWgﬁaﬁ?

(A) fagw =mR ifd, 1991 @) faw =mR i, 2015-2020 .

© fagw eamm Hifd, 2021-2024 @), 5faRw = A, 20042009
(B) rgafa 9w —
120, Choose the most appropriate word to fillin the blank in the given sentence :
If they that picture lower, people would be able to see it.
(A) hang (B) xs{ould hang (© don’thang
(D) hung » (E) Questionnotattempted
121, The characteristic of the computer to store data,_ili'fc:rmation and programs is called :
(A)  Versatility (B) Storage ©  Speed
(D)  Accuracy (F)  Questionnotattempted
FER i e fafired], Forer i, G T SIS HIE o S 8, o e € ;
&) gafe @®  EIEE & - ©
©) ufgfsd ® AT
I |
- * P.T.0.
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122, T A AW A g ) W &
(A) T e | ®) 3 oy 5 b A
© ¥ ¥ <o s € ©) o R 3 A A

123. 701 % et -1 =1 e 3 (N
» T e

-

(@)  Endorsement () o= .

(b)  Transliteration (i)  FHEd UU
(© Subordinate ™ (i) wI Ld{w
(d) Transformation (iv) iy

= R T formedl & | Wl sugea s g

@) (-, ®)-@), (0)-(v),(d)-Gii) ¥  B) (a)-(iii), (b)- (iv), (©) - (i), (d) - (i)
©  (@-(@v), (b)- (i), (c) - (i), (d) - (i) D)  (a)-(ii), (b)- (i), (c) - (i), (d) - (iv)
(B) IHERa ¥

124. 0 ¥ S I vaihash TS L2
@) e B) T © s
Read the passage and answer the questions that follo“{;- -

In an often-overwhelming world, staying sane means learning to remember and allowing to forget. Phones,
wallets, sunglasses, keys, a box of cornflakes, even a ukulele and, once, a gate valve. These are among the things that
passengers have forgotten in cabs in 2023, according to Uber India’s annual ‘Lost and Found Index’. Further insights
suggest that Delhi is the most forgetful city in India, that people are most prone to absentmindedness in the evening -from
7 pm to 9 pm - and that the festive days around Diwali tend to make people more distracted than any other time of the
year. No doubt this information is amusing, and even useful - one could, for example, learn to be vigilant about one’s
belongings during the weary, post-work cab ride home. But the real lesson here is that forgetfulness is inevitable.

In Remember : The Science of Memory and the Art of Forgetting, the American neuroscientist Lisa Genova explains that
“a finely orchestrated balancing act between data storage and data disposal” is key to a well-functioning memory
system. In other words, as much as remembering - to turn off the gas, your child’s smile when you return from work or
that the deadline for filing tax returns is close - is necessary, so is forgetting - your score in Class X boards, the heartbreak
of an early love or the time a colleague slighted you. In their own way, both help maintain sanity inan often-overwhelming
world. Consider the condition of the titular character in Jorge Luis porges's story ‘Funes the Memorious’ whose prodigious
memory forced him to note the progress of decay, corruption, fatigue and death and doomed him to be “the solitary and
lucid spectator of... an intolerably precise world”. P
125. The main idea in the write-up is: ~J _

. (A) Allowingusto be forgetful P _:'_F;‘ (B) Ask'mg us to be more vigilant
" (© Makinguslearn that forgetfulness is mev:tar_lg:- * (D) Urgingusto remember the things
(E) Questionnotattempted )

il e

126. According to Lisa Genova, remembering and forgét_ﬁ_n? data from your memory is necess ey s
(A)  this can make the person insane ‘-,*'_‘1 (B) ithelps Maintain sanity e ;
(©)  itcanmake the person happy and contentegxg 3 (D) forgetfulness ininevitable
(E) Question notattempted

127. Word ‘precise’ means:
(Choose the most appropriate option from below)

Specific * .
Eg; $:;t:;d ((g; Question not attempted ©  Estimate
24
|B23
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128.

129,

130.

131.

The key to a well-functioning memory system is

(A)  balancing data gtoragefand data disposal.

(B)  reminding to pay taxes, and forget heartbreaks.

(©  tonote the progress of decay, fatigue and death.

(D)  very important to survive in an overwhelming world.
(E)  Question notattempted

Which of the following is a type of computer network ?

(A) STAR B) PAN (© RING

(D) BUS (E)  Questionnotattempted

Frefafad § | &9 1 FR Yead 1 ww TERE 2

(A) THA TSR (STAR) ® T (PAN) (© AR 3E TS (RING)
@ AT BUS) * E)  SIIRT T

Following is the full form of SLR in Indian Financial System is :

(A) State Lenient Rate (B)  Statutory Low Ratio (© Statutory Liquidity Ratio
(D) State Liquidity Rate (E)  Questionnotattempted

R ferta womedl § 71 # & 6 Uet 3R (SLR) 1 g w9 R :

(A) I IT/R ST (B) A =g ST . ©  BenfTeR aXetdr I

(D) T T S ® o

Given below are two statements : e

Statement (I) : Phosphate rock is mostly used in the manufacture of superphosphate which is utilized as a

‘Nutrient for crops, fruits and ﬂowers

Statement (II):  Phosphate rock has been located at Maton, Karbaria-Ka-Gurha, Kanpur, Dakan Kotra and
Neemach hill, all the Aravalli formatlon of the Pre-Cambrian age near Udaipur and Jaisalmer

areas. 3
In the light of the above statements, choose the most apprupnate answer from the options given below.
(A) Both Statement (I) and Statement (II) are incorrect.
(B) Statement (I) is correct but Statement (II) is incorrect.
(©) Statement (I) is incorrect but Statement (II) is correct.
(D) Both Statement (I) and Statement (II) are correct.
(E) Question notattempted

EEE AR
FEA():  FICHS HI G AR W?ﬁnhﬁmaﬁmﬁ% ST fof e, Wl SR helt & oy
H g g g1 -

oM (II): W@ﬁmmmwmmmmwmﬁm%lﬁwmm
Srgeri sl o e e g F SR S ) -

S o 3 e 6, A fag g feeredt § § WAl ST S|

&) e (1) SR e (1) T T €

®) e 1) W & A Ho (1) T €

© mm(l)w%ﬁﬁ?ﬁm(“l@%'

O  we (1) s amer () S A EL

®)  rgufaud

|2y 25 P.T..
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133.

134.

135.

GET IT ON
2 "I 7 Google Play

Given below are two statements :

bian Sea.
Statement (I Rajasthan gets rainfall from the Monsoon of Bay of Bf?ﬂgai ar'1d. Ari;uch re;i‘hfall toit becau&
Statement (1) ; Bay of Bengal Monsoon pass through the Rajasthan without gIving
there is no proper obstruction available in the passage of it. . ons eiven below.
In the light of the above statements, choose the most épﬁr?priate answer from the options &
®) '

Both Statement (I) and Statement (IT) are incoﬁ_rr__eéf.
(B)  Statement (T) is correct but Statement (1) is incorrect.
(©  Statement () is incorrect but Statement (11) is ;':o_fréct.
(D)  Both Statement (T) and Statement
(B)  Questionnot attempted

A T Ry LAt
HYA(N):

(IT) are correct, -

mﬁ@aﬁtmwﬁmﬁmﬁwaﬁ%u

A (1) : ﬁmaaﬁ@@mmmnﬁﬁmﬁwaﬁﬁqm%,ﬁﬁ%@ﬁ%ﬁﬁﬁﬁw
=AY T R -

mmﬁ%mﬁ,ﬁémmﬁwiféu@m@aw?ﬁl

(A) AT (1) ST HAR (11) I e F | .

®B)  HE () T E, A o () o ¥ B

O wE @O TEE dwe o @

D) AT (1) 3R e (11) 2wt & '

E) AR I

D FE R ¥
HET- (1) : T I H SER WA FIE | - 5

HRIT - (IN) 'm'aw‘a‘ﬁaﬁmmmmﬁ%l
mmﬁ%mﬁﬁqﬁf@aﬁwiﬁuﬂmﬁ:

A) = (1) 3R (1) 3T e E (B) Eﬁﬂ?(l)m%ﬁﬁm(n)m%l-
O FF@O)eEAE FgFW @ TEET () FET () SR (11) A e

E) Saa@yE

Choose the most appropriate Hindi translation for the given sentence :
Your anger is justified. i

{ \|
(A) 3 T e o - (B) ST TG S e &

e B © sy .

(D)  ATYH TET Bh-3Teh 2 E) Quesﬁ?n pgt attempted = SE
‘Golden langur’ is main fauna of which of the followfn_gt;iosphere reserve ?

A)  GreatNicobar B) Nanda'__t_?gvi

ED) Simlipal (E)  Questionnot attempteq © Manas
frefafad § 9 e S it &9 %1 7@ W, e e ¥
@) e fEER . @) e O
o) fafemma | ()  STNIE A
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136, Which city of India hosted 1415t|1ntemati0nal Olympic Comtﬁittee Session ?
() Mumbai S B) Kolkata i
Ihi ; i (©) Chennai
@ Delu o | (E)  Question notattempted
yRd & foFd TR A 141901 siciedia sireifams wfirfa w1 1 snfaen fipar?
@ TR (B) IR © 5
o feeh (E) orufayw
137, Which place of Sikar area is famous for gota industry ?
(Choose the most appropriate option from below)
(A) Piprali B) Khandela Nechwa
©
D) Khoor (E)  Question notattempted
Ht ¥ e | S G I T SE Ry v €2
(fr=1 ® & geR Suge fawey 97)
@) oo ®) - TS © frEe
O) W™ - () IaidyE
138. Inthe given question a statement followed by two conclusions numbered Iand I are given. You have to assume
everything in the statement to be true, then consider the two conclusions together and decide which of them
logically follows. -
Statement : India’s economy is depending mainly on forests.
Conclusions: () India wants only maintenance of forests to improve economic conditions.
()  Trees should be preserved to improve Indian economy.
In the light of the above statements, choose the correct answer from the options given below.
(A) Ifneither (I) nor (II) follows (B) Ifonly conclusion (I) follows
(© Ifonly conclusion (II) follows (D) 1fboth (I) and (II) follow
(B) Question notattempted :
fem T WA, T o 9 I A% 1 SR I it 1 R e E | AT o H 3} E Tt S ! T JEA
% T T P W o T faar Y SR Frofa o fof 5 @ 6 ifheh 9 9 TR0 AT § |
HUA : R &) sieferaeyn TEr w9 9 o R R w €
Prgd: ()  oTor enfeie e o GURA ¥ for R 1 et SO T 61 T@EE F T
@ 2N o IRRE, I sreferee i GurRA & fag fean s e
I FYA ¥ Al §, A ey e fashedt # | W@ SW A |
(a) TR (D) ARAA () FTEO R (B) Fael frend (1) SO F R |
© Faa Frew (1) STTER ¢ | @) (1) 3R (1) I TTRTFAE N -
(E) ajﬂli’ﬂ LS
139. Who was the Chief Commander of the Mughal army in the Battle of Haldighati ?
(A) Mehman Singh (B) ManSingh (© Khurram Khan
(D) Hakim Khan (E)  Question notattempted
TIeE % g B el S 1 e A b o ?
(A) euH fae ® w"AfEE ° © T EEH
D) wfEnEH (E) ARG
140. How many person have held the post of Chairman of NITI Aayog since its formation (till July, 2024) ?
7 ST ¥ e % 91 Q o1 T (Y, 2024) TR AT T Teme vg R S qUE?
A) 4 ® 2- © 1
D 5 (E)  Question notattempted / 3TFARd T
B2 | 27 P.T.O.
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141. Match List-1 with List-II.

GET IT ON
Google Play

s6r 11254 1ifln el
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142.

List-1 List-1I
Memorials Place
(@)  Jaswant Singh’s Thada (i) Jaisalmer
®) Chhatris of Rulers and Paliwals (i) Bundi
(€ Chaurasi Khambon Ki Chhatri (i) Alwar
(d)  Fateh Gumbad (iv) Jodhpur
-1 % w1er ett-an w1 fiver
eI E-II
WS A
() w9ad g a3 ()  SEErR
(b) wrEE R el w5 aﬁg‘i‘/ () SR
© <Rt e # s (ifi) ST )
(d) e =R (iv) SHEER
Choose the most appropriate answer from the options given below :
e e e oo & & Wl sogea s o
A)  (@)-(0), (b)- (i), (c) - (iv), (d) - (ii) *
B)  (2)-(iv), (b)- (@), (c) - (ii), (d) - (i)
©  (a)- (i), (b) - (ii), (c) - (i), (d) - (iv)
D)  (a)- (i), (b)- (iv), (c) - (i), (d) - (i)
(B)  Question not attempted / START T

Given below are two statements :

Statement (I) : Veer Savarkar formed an organization named “Mitra Mela’ during the partition of Beng
with his companions and made a bonfire of imported clothes.

British government had imposed a 'l_:J_ag';_on Veer Savarkar’s book, “The Indian War ¢
Independence” before it could be published.

In the light of the above statements, choose the most appropriate answer from the options given below.

Statement (II) :

(A) Both Statement (I) and Statement (II) are false.
(B) Statement (1) is true but Statement (II) is false.
(©) Statement (]) is false but Statement (II) is true.
(D) Both Statement (I) and Statement (II) are true.
(E)  Question notattempted
= 1 e R g §
wOA(l): AR EEER A o Ao, e e e iR e e ¥ ok ST WY % ey fiyeray
FHUS! T el ST | - ) e fed
wUA(): oo SRR A R e & g, lqmﬂ"@mm'tw‘}mﬁwqtgﬁaqm

ﬁ'ﬂ'” Vs
mm&;mﬁ,ﬁ%ﬁqwﬁaﬁﬁﬁwﬁ%wﬁl
e (1) 3R wE (1) < e € | =

)
(B) e (1) WA & T HE (1) TR ¥ o
© W(I)W?,Wﬂ?ﬂ.‘l(ll)mh
D) mm(])aﬂtmmm)ﬁz‘rm%.
® Sgara T
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143. Anironrod of uniform thickness of length 5.6 metre weighs 2.4 kg. How much will be the weightof 5iron rods of
the same thickness and each having length of 8.4 m ?
(A) 16kg (B) 25kg (© 18kg
(D) 15kg (E)  Question notattempted
T T Werd 3 Wi o8 o T 5.6 e 3 R 2.4 FRN, 3, 1 5 WA e T TS 5 R
B, IR YT B I ol 8.4 Wz ¥ 2
() 16 fEm. ® 25 fEm. © 18fFm
©) 15f%m. « () 3Afd g
144. The first Chairman of NITI Aayog was : -
(A)  Sh. Arun]Jaitely (B)  Sh. Arvind Panagaria (C)  Dr. Manmohan Singh
(D) Sh.Narendra Modi (E)  Question notattempted
fifa ST % worm e 4
(a) . T S @) ot efag wAnfean X © = HEeE fE5
) g T e () A IH
145. Which of the following file extension is applied to a MS - PowerPoint 365 Presentation by default whenever you
saveit? _ :
firetferfad & @ 1 1 FEa fEwR T0.0y. TERiEe 365 FSN W An] g6l §, 99 9 39 fewee § (Fa) FHfEa
FAE? e
(A  xls B .doc £ 3 © xps
(D) .pptx (B)  Question not attempted / SATARd F&1
146. The states created in 1960 were :
(A) Maharashtra and Gujarat (B) Manipur and Tripura
(© Haryana and Himachal Pradesh (D) Maharashtra and Punjab
(E)  Question notattempted
T 1960 H Gt T 9
(A) TERTEg SRR ®) g s frga
© efamn iR fewm=a ww (D) TR SR 4T
(E) ?ﬂﬂf‘lﬁﬂ LG
147, Which of the following Banks was originally named as Imperial Bank of India ?
(A) State Bank of India (B) Punjab National Bank (©)  Central Bank of India
(D) Reserve Bank of India (B)  Questionnotattempted '
frefafen § | fora @ =1 qa T Siifera 9% o e @ ?
(&) v R A ®) o ©  Few o i -
O iy fiod o (B) TN F¥
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ived idiom in the given Sentence.
148.  From the options below, choose the most appropriate meaning of the url(_l_"-‘{l_{“_‘?_ 5

Laila’s feeljngs “down in the dumps ” is a temporary phase.

(A) Malnutrition (B) Feeling elated (C)
(O) Poverty (E) Questionnot attempted
149. ‘CAZRY institute is mainly involved in research of
(A)  Animal Husbandry in Desert
(B) Land reforms
(©  Mining of Minerals ¢ 11
(D)  Sustainable farming systems inarid ecosystem
(E)  Question notattempted
Tr=feifaa  § firg iy § ‘cAZRY wg@mﬂmﬁa%7
() e F ayEes
®
© wEFsisiETE o
D) = niRfeiqn o3 § e iy ot
() STgaRdye
150. Which of the following dams of Rajasthan produces Hydroelectric power ?
(A) MejaDam (B) ]aw;u Dam ©
(D) Mahi Bajaj Sagar Dam (E)  Questionnot attempted
nmﬁmﬁﬁﬁrf@aﬁﬁﬁ?mmaﬁaﬁgﬂmwmm%a
(A) TerEy (B) s iy - ©
(D) Wl SN |IR =iy, ®) a'{ﬂaﬁam
-000-
i)
(0 3
)
L ;;-_ ;
N
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Feeling very sad ¢

Swaroop Sagar Dam
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